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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2014 C L«X, 2015 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

%rÙ] Yy ( 8th Paper : Computer Applications in 
Economics & Research Methodology ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) Eı◊+=ªRÙOÁÃ[˝ [˝_„Tˆ %Á]Ã[˝Á ◊Eı [˝«◊Mı ? Eı◊+=ªRÙOÁ„Ã[˝Ã[˝ 

◊[˝◊\ˆ~ ^‹óˆÁe„`Ã[˝ EıÁ^ÔÁ[˝_› a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 

Eı◊+=ªRÙOÁ„Ã[˝Ã[˝ aeÃ[˝l˘S l˘]TˆÁ C ÿˆÇ ◊Tˆ`◊N˛ a+„EÔı 

◊[˝ÿôˆÁ◊Ã[˝Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 5 + 5 + 10  

 (F) %YÁ„Ã[˝◊ªRÙOe ◊a‰∫RÙO] ◊Eı ? Eı◊+=ªªRÙOÁ„Ã[˝Ã[˝ %YÁ„Ã[˝◊ªRÙOe 

◊a‰∫RÙO„]Ã[˝ Y“„Ã^ÁLX›Ã^TˆÁ C [˝Ó[˝c˜Á◊Ã[˝Eı 

=Y„^Á◊GTˆÁm◊_ ◊Eı ? V«◊ªRÙO %YÁ„Ã[˝◊ªRÙOe ◊a‰∫RÙO„]Ã[˝ 

[˝Ó[˝c˜ÁÃ[˝ Yà˘◊Tˆ C YÁUÔEıÓ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

   5 + 5 + 10 

 (G) a+EÔı^«N˛ TˆUÓ\ˆÁâ¯ÁÃ[˝ EıÁ„Eı [˝„_ ? AEı◊ªRÙO ZıÁ]Ô 

AEıÁ◊W˝Eı YSÓ =dYÁVX Eı„Ã[˝* %Á[˝ÁÃ[˝ AEı◊ªRÙO YSÓ 

AEıÁ◊W˝Eı ZıÁ]Ô •ÁÃ[˝Á =dYÁ◊VTˆ c˜Ã^* A„l˘‰y ZıÁ]Ô C 

Y„SÓÃ[˝ ]„W˝Ó ◊Eı W˝Ã[˝„XÃ[˝ a+EÔı YÁCÃ^Á ^ÁÃ^ ? 

TˆUÓ\ˆÁâ¯ÁÃ[˝ ÈTˆ◊Ã[˝ EıÃ[˝„Tˆ ÂG„_ Eı› Eı› %a«◊[˝W˝ÁÃ[˝ 

a∂ˆÇ«F›X c˜„Tˆ c˜Ã^ TˆÁ %Á„_ÁªJÙXÁ EıÃ[˝”X* Y“ÁU◊]Eı a…y 

C [˝◊c˜Ã[˝ÁGTˆ a…y EıÁ„Eı [˝„_ ? 10 + 10 

 (H) ÈÃ[˝◊FEı ÊY“ÁG–Á◊]e EıÁ„Eı [˝„_ ? ÈÃ[˝◊FEı ÊY“ÁG–Á◊]e-AÃ[˝ 

a]aÓÁ ◊Eı ◊Eı Yà˘◊Tˆ„Tˆ a]ÁW˝ÁX EıÃ[˝Á ^ÁÃ^ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* a›]Á[˝à˘ EıÁ]ÓTˆ]EıÃ[˝S EıÁ„Eı [˝„_ ?    

a]ÁW˝ÁX EıÃ[˝”X : 

  Minimize yxZ 53 +=  

  subject to 1232 ≥+ yx  

                  3≤+− yx  

                4≤x  

                3≥y  

  Â_F◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó a]aÓÁ◊ªRÙO a]ÁW˝ÁX EıÃ[˝”X* 
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2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) Computer Programming EıÁ„Eı [˝„_ ? AEı◊ªRÙO 

ÊY“ÁG–Á] ◊X]ÔÁ„SÃ[˝ Yà˘◊Tˆm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 

(F) Eı◊+=ªRÙOÁ„Ã[˝ Word Processing-AÃ[˝ Âl˘‰y      

MS-Word-AÃ[˝ \…ˆ◊]EıÁ C Y“„Ã^ÁLX›Ã^TˆÁ a+„EÔı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* MS-Word-AÃ[˝ Y◊Ã[˝ªJÙÁ_XÁGTˆ 

(text & graphics) %Á„V`m◊_Ã[˝ a+„EÔı %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 6 + 6 

(G) ACCESS ◊Eı A[˝e AÃ[˝ ]…_ =YÁVÁXm◊_ ◊Eı ◊Eı TˆÁ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* ACCESS £Ã[˝” EıÃ[˝ÁÃ[˝ Yà˘◊Tˆ A[˝e 

TˆUÓ\ˆÁâ¯ÁÃ[˝ ÈTˆ◊Ã[˝Ã[˝ Yà˘◊Tˆ◊ªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 4 + 8 

(H) =VÁc˜Ã[˝Sac˜ [˝ÓÁFÓÁ EıÃ[˝”X :  6 + 6 

(i) X›ªRÙO [˝Tˆ¤]ÁX Y“E ıTˆ ]…_Ó (Net Present Value) 

(ii) %\ˆÓ‹ôˆÃ[˝›S Y“Á◊ä c˜ÁÃ[˝*  

(I¯) AEı◊ªRÙO a◊PˆEı Y…[˝ÔÁX«]ÁX Yà˘◊TˆÃ[˝ È[˝◊`rÙÓm◊_ ◊[˝[˝ Tˆ 

EıÃ[˝”X* Y◊Ã[˝aeFÓÁX Yà˘◊TˆÃ[˝ ]ÁW˝Ó„] ◊Eı\ˆÁ„[˝ 

Y…[˝ÔÁX«]ÁX aïˆ[˝ ? 6 + 6 

(ªªJÙ˜) Y◊Ã[˝aeFÓÁX TˆUÓ [˝_„Tˆ ◊Eı Â[˝ÁMıÁÃ^ ? %ÁV]a«]ÁÃ[˝› 

Yà˘◊Tˆ„Tˆ ◊Eı ◊Eı ◊[˝b„Ã^Ã[˝ =YÃ[˝ Y◊Ã[˝aeFÓÁX aeG–c˜ 

EıÃ[˝Á c˜Ã^ %Á„_ÁªJÙXÁ EıÃ[˝”X* 6 + 6  

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) _«Y ◊Eı ? AEı◊ªRÙO y‘]TˆÁ◊_EıÁÃ[˝ aÁc˜Á„^Ó _«„YÃ[˝ ◊[˝bÃ^◊ªRÙO 

[˝«◊Mı„Ã^ ◊VX* 3 + 3 

(F) YÁUÔEıÓ ◊XSÔÃ^ EıÃ[˝”X : 3 × 2 

(i) c˜ÁQÔˆCÃ^ÓÁÃ[˝ A[˝e aZÀıªRÙOCÃ^ÓÁÃ[˝ 

(ii) Z¿ı◊Y ◊Qˆïı A[˝e c˜ÁQÔˆ ◊Qˆïı*  

(G) DBMS EıÁ„Eı [˝„_ ? DBMS-AÃ[˝ aÁc˜Á„^Ó ◊Eı EıÃ[˝Á 

c˜Ã^ ? 3 + 3 

(H) MS-Excel-AÃ[˝ È[˝◊`rÙÓm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

Excel-A ◊Eı\ˆÁ„[˝ ÂÃ[˝FÁ◊ªJÙy ÈTˆ◊Ã[˝ EıÃ[˝Á c˜Ã^ ? 3 + 3 

(I¯) %Á‹ôˆL¤Á◊TˆEı [˝Á◊S„LÓ Y◊Ã[˝aeFÓÁXGTˆ Tˆ„UÓÃ[˝ \…ˆ◊]EıÁ 

a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªJÙ) ]…_W˝X ◊[˝◊X„Ã^Á„GÃ[˝ aÁW˝ÁÃ[˝S ◊X[˝ÔÁªJÙX ÂEıÏ`_m◊_ [˝SÔXÁ 

EıÃ[˝”X*  

(ªK˜) a…ªJÙEı ZıÁc˜O_ EıÁ„Eı [˝„_ ? a…ªJÙEı ZıÁc˜O_ ÂEıX  

Y“„Ã^ÁLX ? 3 + 3 

(L) %◊\ˆ]Tˆ a]›l˘Á Yà˘◊Tˆ C %◊\ˆp˚ ]TˆÁ]Tˆ a]›l˘Á 

Yà˘◊TˆÃ[˝ a«◊[˝W˝Á C %a«◊[˝W˝Á a+„EÔı %Á„_ÁªJÙXÁ EıÃ[˝”X* 
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English Version 
 
 

1. Answer any two questions : 20 × 2 = 40 

(a) What do you mean by computer ? Discuss 

the functions of various parts of a 

computer. Discuss, in detail, about the 

saving capacity and memory of a computer. 

  5 + 5 + 10  

(b) What is operating system ? What are the 

requirement and functional utilities of 

operating system of a computer ? Discuss 

the functioning process and difference of 

any two operating systems. 5 + 5 + 10 

(c) What is meant by relational database ? A 

firm produces more than one good. Again, a 

good can be produced by one or more firms. 

In this case what kind of relationship can 
be found between a firm and a good ? 

Discuss the difficulties that are faced while 

creating a database. What is a primary key 

and a foreign key ? 10 + 10   

(d) What is linear programming ? Discuss the 

different methods of solving the problems of 

linear programming. What is meant by 

constrained optimization ? 

  Minimize yxZ 53 +=  

  subject to 1232 ≥+ yx  

                  3≤+− yx  

                4≤x  

                3≥y  
 Solve the above problem graphically. 

2. Answer any three questions  : 12 × 3 = 36 

(a) What is computer programming ? Discuss 
the steps in writing a programme. 4 + 8  

(b) Discuss the role and necessity of MS-Word 
in word processing. Discuss about the 
command for text and graphics in           
MS-Word. 6 + 6   

(c) What do you mean by ACCESS and what 
are its main components ? Discuss the 
process of starting an ACCESS and 
creating a database. 4 + 8 

(d) Explain with examples : 6 + 6 

(i) Net Present Value 

(ii) Internal Rate of Return.  

(e) Discuss the features of a correct estimation 
process. How is estimation possible by 
statistical method ? 6 + 6 

(f) What is meant by statistical data ? Discuss 
the factors on which statistical data are 
collected in Census method. 6 + 6   
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3. Answer any four questions  : 6 × 4 = 24 

(a) What is loop ? Explain loop with the help of 
a flowchart. 3 + 3  

(b) Distinguish between : 3 × 2 

(i) Hardware and Software 

(ii) Floppy disk and hard disk.  

(c) What is DBMS ? What is done with the help 
of a DBMS ? 3 + 3 

(d) Discuss the features of MS-Excel. How is 
chart created in Excel ? 3 + 3 

(e) Discuss the role of statistical data in 
international trade. 

(f) Discuss the criteria that should be adopted 
for capital investment.  

(g) What is Index file ? Why is Index file 
necessary ? 3 + 3 

(h) Discuss the advantages and disadvantages 
of Opinion Survey Method and Expert 
Opinion Survey Method. 

    


